This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 8 - Kinross-Shire

6,432

4

1,287

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graham COX	Scottish Labour Party	438
Dave CUTHBERT	Independent	725
Pat DORAN	Scottish Green Party	331
Neil FRESHWATER	Scottish Conservative and Unionist	957
Gerald O'CONNELL	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	52
Willie ROBERTSON	Scottish Liberal Democrats	1,346
George STIRLING	Scottish Conservative and Unionist	925
Richard WATTERS	Scottish National Party (SNP)	1,658
	Total	6,432

Candidate Willie ROBERTSON Elected with 1,346 votes, being in excess of the quota of 1,287 Candidate Richard WATTERS Elected with 1,658 votes, being in excess of the quota of 1,287

This report contains the transfers results.

Stage 2 - Surplus of Richard WATTERS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham COX	219	0.22376	49.00344
Transfer to Dave CUTHBERT	239	0.22376	53.47864
Transfer to Pat DORAN	835	0.22376	186.83960
Transfer to Neil FRESHWATER	15	0.22376	3.35640
Transfer to Gerald O'CONNELL	27	0.22376	6.04152
Transfer to George STIRLING	33	0.22376	7.38408
No further preference	290	0.22376	64.89040
Not transferred due to rounding			0.00592
	Total		371.00000

This report contains the transfers results.

Stage 3 - Surplus of Willie ROBERTSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham COX	220	0.04383	9.64260
Transfer to Dave CUTHBERT	483	0.04383	21.16989
Transfer to Pat DORAN	184	0.04383	8.06472
Transfer to Neil FRESHWATER	102	0.04383	4.47066
Transfer to George STIRLING	192	0.04383	8.41536
No further preference	151	0.04383	6.61833
Not transferred due to rounding			0.00482
	Total		59.00000

This report contains the transfers results.

Stage 4 - Exclusion of Gerald O'CONNELL

3.			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham COX	7	1.00000	7.00000
Transfer to Dave CUTHBERT	16	1.00000	16.00000
Transfer to Pat DORAN	4	1.00000	4.00000
Transfer to Neil FRESHWATER	7	1.00000	7.00000
Transfer to George STIRLING	8	1.00000	8.00000
Transfer to Graham COX	1	0.22376	0.22376
Transfer to Dave CUTHBERT	5	0.22376	1.11880
Transfer to Pat DORAN	9	0.22376	2.01384
Transfer to Neil FRESHWATER	1	0.22376	0.22376
Transfer to Graham COX	7	0.04383	0.30681
Transfer to Dave CUTHBERT	1	0.04383	0.04383
Transfer to Pat DORAN	2	0.04383	0.08766
Transfer to George STIRLING	3	0.04383	0.13149
No further preference	10	1.00000	10.00000
No further preference	11	0.22376	2.46136
No further preference	1	0.04383	0.04383
Not transferred due to rounding			0.00000
	Total		58.65514

This report contains the transfers results.

Stage 5 - Exclusion of Graham COX

504.17661

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave CUTHBERT	133	1.00000	133.00000
Transfer to Pat DORAN	105	1.00000	105.00000
Transfer to Neil FRESHWATER	36	1.00000	36.00000
Transfer to George STIRLING	21	1.00000	21.00000
Transfer to Dave CUTHBERT	49	0.22376	10.96424
Transfer to Pat DORAN	90	0.22376	20.13840
Transfer to Neil FRESHWATER	10	0.22376	2.23760
Transfer to George STIRLING	5	0.22376	1.11880
Transfer to Dave CUTHBERT	77	0.04383	3.37491
Transfer to Pat DORAN	38	0.04383	1.66554
Transfer to Neil FRESHWATER	20	0.04383	0.87660
Transfer to George STIRLING	28	0.04383	1.22724
No further preference	150	1.00000	150.00000
No further preference	66	0.22376	14.76816
No further preference	64	0.04383	2.80512
Not transferred due to rounding			0.00000
	Total		504.17661

This report contains the transfers results.

Stage 6 - Exclusion of Pat DORAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave CUTHBERT	195	1.00000	195.00000
Transfer to Neil FRESHWATER	16	1.00000	16.00000
Transfer to George STIRLING	11	1.00000	11.00000
Transfer to Dave CUTHBERT	399	0.22376	89.28024
Transfer to Neil FRESHWATER	7	0.22376	1.56632
Transfer to George STIRLING	12	0.22376	2.68512
Transfer to Dave CUTHBERT	81	0.04383	3.55023
Transfer to Neil FRESHWATER	7	0.04383	0.30681
Transfer to George STIRLING	12	0.04383	0.52596
No further preference	218	1.00000	218.00000
No further preference	516	0.22376	115.46016
No further preference	124	0.04383	5.43492
Not transferred due to rounding			0.00000
	Total		658.80976

This report contains the transfers results.

Stage 7 - Exclusion of George STIRLING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave CUTHBERT	47	1.00000	47.00000
Transfer to Neil FRESHWATER	837	1.00000	837.00000
Transfer to Dave CUTHBERT	9	0.22376	2.01384
Transfer to Neil FRESHWATER	22	0.22376	4.92272
Transfer to Dave CUTHBERT	38	0.04383	1.66554
Transfer to Neil FRESHWATER	130	0.04383	5.69790
No further preference	81	1.00000	81.00000
No further preference	19	0.22376	4.25144
No further preference	67	0.04383	2.93661
Not transferred due to rounding			0.00000
	Total		986.48805